10. )
PropoSe a structure for C¢H;sN using the NMR spectrum shown. Indicate which

hydrogens produce which signal in the NMR spectrum.

I(Iilxlllll’flllll|](|IIITIIlll,lll’]l[lllllllll[lIllv‘

—

LllllIIKllilJ'Ii(il[llllilll!]llllllllllI[!!l!

Tl UU;

8.0

6.0 5.0 4.0 3.0 . 2.0 1.0 0
PPM (5)
Multiple Choice : write your response on the line to the left of the
question.

1. The infrared spectrum of an unknown compound is reproduced below. What is the
structure of the compound?
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A. CH3CH,CH,CHCH;3 B. CH3CH,CH,ECH;
O
C. CH;CH,CH,CH,CH3 D. CH3 CH,CH,CH,EOH:

2. What is the hybridization of the nitrogen in pyridine?
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